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1 2 3 4 5 6

1 2 3

I - - - - - -  3  4

4 5 6 7 P(2) = l/36

2 5 6 7 8 P(3) = 2/36

3 4 5 6 7 8 9 P(4) = 3136

4 I - -  5  6 7 8 9 10 P(5) = 4136

5 6 7 8 9 10 1 1 P(6) = 5136

6 7 8 9 10 11 12 P(7) = 6136

P(8) = 5/36

P(9) = 4/‘36

P(10) = 3136

Wl1) : 2i36

P(I2)  = 1136
I .oo=;

r-4 5 ’ 7 ’ 9 3':6 21:6 I;:62/36 3./36 4/36 5:36 6136 5136 3136
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prob. .6

.3

.I

0

P(16,OCO  Fi) = .6

P (12,000 fi) = $6)  = .3

P (16,000 ?i)  + P (12,000 Fi)  = .9

hlX$Wd&hJ~  18,000 d (aii&n  2,000 4)

&?&A P(18,OOO ‘f-i) = l.O-.9 = .1

9 4 ST 206 (Hj



Y 10 12 14 16 18 20 TaaJ

*XJd 15 20 45 42 18 10 150

P(10)  = 15/150  = .lO

P(12) = 20/150 = ,133

P(14) = 45/150 = .30

P(16) = 42/150 = .28

P(18)  = 18/150  = .I2

P(20)  = IO/150  = ,067

Y : 10 12 14 16 18 20 5781

f(Y)  : .lO .I33 .30 .28 .12 .067 1 .oo
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f(Y)

I

3 0 i
I

25
t

2 0

15

10

5

I-L-Ln -L/
”

IO 12 14 16 18 20

(91) E(Y)  = W-(Y)

= 10(.10)+ 12(.133)  + 14(.30)+ 16(.28)+ 18(.12)+ 20(.067)

= 1 +1.60+4.2+4.48+2.16+  1.34

= 14.78

(n) p(8.m) = .05 .40 _

P(9,OOO)  = .I5 .30  _

P(10,000) = .25
.20 _

P(11,ooO)  = .30 t

P(12,OoO)  = .20
.I0 _

P(13,OOO) = .05 1 1-
1.00 8,000 9,000 10.000 11,ow 12,@30 ,3,0@3
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Y : 0,000 9,000 10,000 11,000 12,000 13,000 53a.l

f(Y) : .05 .15 .25 .30 .20 .05 1 .oo

= U’W.W+9,000(.15)+  . . . +(13,000)(.05)

= 10,600
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7-l)  IIt x i+h&mm~olJar~u

E ( X )  =  0(.25)+5(.4)+  10(.2)+25(.1)+50(.05)

= 9.0 Pl1n  d&w?4  100 IJIW

j ,I  c ,“o “,“,“d
n) ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~  x

91)  a-anifiimmuwua.3  X

n) P(X  = 0) = 18/600 = .03

P(X = 1) = 48/600 = .08

P(X = 2 ) = 180/600 = .30

P(X = 3 ) = 252/600 = .42

P(X = 4 ) = 12/600 = .12

P(X = 5 ) = 30/600 = .05 .
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?& __ x 0 1 2 3 4 5 3181

WJlUdld3h4 .03 08 .30 .42 .12 .05 1 .oo

Y) E(X) =: 0(.03)+1(.08)+2(.30)+3(.42)+4(.12)+5(.05)  = 2.67

d?aJ1m~1 (ml) 3,000 4,000 4,500 5,000

naiutixch .2 .4 .2 .2
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P(X=6)  = l/4

P(X  = 8) = l/4

idio f(x) = $ ; x = 2, 4, 6, 8

8 . 1 4  SW”  X  llnM~~l;un”?sl-uJmi’Un?au?a  4  ti ~J‘hWihJn”u PJHl

(tl) P(X d 2 ) (“u) P(X  a 2 ) (tl) P(X  4  3)

(J) P(I  & x G  3) (8) P(0 < x Q 4) (Q) P(l < x < 3)
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HHHH 4 T T T T 0

HHHT 3 T T T H 1

HHTH 3 TTHT 1

HTHH 3 THTT 1

HHTT 2 TTHH 2

HTHT 2 THTH 2

HTTH 2 THHT 2

H T T T 1 THHH 3

X 0 1 2 3 4 3?LI

f(xl 1 4 6 4 1
16 16 i i 16 16 1.0

(n)  P(X < 2) = f(O)+f(l)+f(Z)

(u)  P(X a 2) = I-P(xd1)

= 1 - f(0) - f(l)

= I-L&

1 1
= 16i

BT 206 (H)

(n) P(X 4 3) = f(0) + f(l) + f(2) + f(3)

1 4 6 4
= iG+iz+iii+iz

1 5
= 16

1 0 1



( 9 )  P(1  d x  < 3)= f(l)+fQ)+f(3)

“+a+%
= 16 16 16

1 4

= iii

(2) P(0  < x d 4) = f( 1) + f(2) + f(3) + f(4)

= 4+6+4+1
16 16 16 16

1 5
= 16

(QP(1  < x < 3) = f(2) = $

fil-bJU  3 6,; P(H) = .6,  P(T) = .4 nialuu 3 n~&wn”u

WWl@l~?l+%I  :  H H H  H H T  H T H  H T T  T H H  T H T  T T H TTT

FilwlJ  x %I : 3 2 2 1 2 1 1 0

ada  x = 3 &I HHH

P(HHH)  =  P(H).P(H).P(H)  =  (.6)3  = c l
.216 = P(X = 3)

&J X = 2 %I HHT, HTH, THH

a&&%&i  prob = (.6)‘(.4)  = ,144

ahi  3  ~vyni9ci~ x  = 2

P(X  =  2 )  =  .144+.144+.144  w%l 3(.144)  = c l,432

x = 1 6 3 LWjnl5  &?a  HTT, THT LLtX  Tl ii

UdWZhd  p r o b  =  (.6)(.4)(.4)  = ,096

d 3 ~~~nl”t@  X = 1 && P(X = I) = 3(.096)  = 1.288

~bat  x = 0 i.%M@jnlad&&io TTT
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x 0 1 2 3 aa%

nalaJtils~:a0ues%l  f(x) 0.064 .288 .432 .216 1.00

P(lllsvlaaIJIJa6oai)  = f+i  = f = ;

: ST 206 (H)
103



(“) HHH

HHT

HTH

HTT

THH

THT

TTH

TTT

, P(X  = 3) = p,‘=;

P P(X  = 2) = ( f )‘(i ) = t

* P(X  = 2) . = ( ; )‘(l ) = t

9 P(X  = 1) = (; )($ )’ = $

,P(X = 2 )  =(g(;)=~

I P(X = 1) = (; )( 5 )’ = ;

1J I P(X  = 1) = (;)(; )‘= $

0 > P(X  = 0) = (; )’ = 5

x = 1, d 3  &,P(X =  l)=  i

x =2 z 3  cl&, P(X  =  2)= i

x =3, ii 1 Fib, P(X  = 3)=  ;

Ti-20)  = 1.0

1 0 4 ST 206 (Hv



Y = x2 1 0 1  4 9 5aa.J

f(y) i jj 5  $ 1.0

-__
lMGpl5dl  x = dwmn"? Y = x2 P(lnGjols&)  x, Y

H H H

H H T

H T H

H T T

T H H

T H T

T T H

T T T

9

4

l/8 3, 9

l/8 2, 4

l/8 2, 4

l/8 1,  1

l/R 2, 4

l/8 1,  1

118 1, 1

118 0, 0

ST 206 (H) 105



0

1

dllm y
4

9

f(x)

1
ii

3
,- - -8

3
8 -

!
8

1 3 3 1
s s 8 8

f(Y)

1
i

3
8

3
8

1
8

1.0

kh@l<JLflWh  dl marginal prob llO9  x &I f(x) LbE  marginal prob 9109  y ;?I f(y)

GlT&U%Jn”dh.bh  6.17

106 ST 206 (H)



X 1 2 3 4 5 6

naiadiaCh f(x) $ 2 2 4 5 6= 21 2 1 u u 21
__- I

-iau

1.0
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.”

~l~~l¶~~ll;l;;u;1~~~~~~u~~l~~,~~~~u~l  3

‘UBJ  X

lps" s LLYll.4  aLtiGluI%0ws~Ela9  P(S)  = .l

F LLYlU  M.hh~d~~fl~~~d~~  P(F) = .9

f-K+mwmBJ  x fWJ;lil,lihJ

FFF 0 (.9)3 = .729

FSF 1 (.1)(.9)2  = ,081

SFF 1 (.1)(.9)2  = .b81

FFS 1 (.1)(.9)2 = .081

SFS 2 (.1)2(.9)  = ,009

SSF 2 (.1)2(.9)  = .009

FSS 2 (.1)2(.9)  = 009

sss 3 (.1)3 = .OOl;

*
x p~:Bnnupnaa~s~ai8loiia~:aDPa  KG

P(X = 0) = ,729

P(X = 1) = ,243

P(X = 2) = ,027

P(X = 3) = ,001

sau 1 .ooo
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P ( X  =  2 )  f 3  R%¶  &I  P(SFS)+P(SSF)+P(FSS)

x 0 12 3 Tagl

f(x) f ; 5 $ 1.0
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x = iilU?wlf$ f(x)

w!?%!  ($)($($)) =  1 ’ 5 5

w!q ($,($($)  =  4 ’ 5 5

q!q! (&q&j) = 4’55

WY  (g(;)(&-))  = 4’55

29%  (& ) (  ;)( $,) = 28/165

a$% (i)(;)(iI,) = ~~‘165

aafg  (;)(;,($j, = 28/‘65

‘dml (;)(f&, = 14155

P(x = 3) = l/55

P(x =  2 )  =  12155

P(x =  1 )  =  28/55

p(x = 0) = *!E

= 55/55

= 1.0

X 0 1 2 3 a-J%,

f(x) 14/55 28/55 12155 l/55 1 .o

110 ST206(Hl



BBBB

B B B A

B B A B

B A B B

A B B B

A A B B

A B A B

B A A B

ABBA

B A B A

B B A A

AAAB

A A B A

ABAA

BAAA

AAAA

x=0

x =  1

x = 2

x=3

x = 4

I

4(&)($)(;)(;)=4(;)

= 105q2%
= P(X=l)

j(  & )( f )(i )(;) = 6(&j

= 63

cl
2%

= P(x = 2)

(,1,)($  ,cg )(,r ) = 4 I;o)

(:)(;)
(‘,“) =%

(:)(,‘)  g
-ET

(:)(:)
m = 2%

(:)c:)  7__  =
(\O) 210

(:)(;,
( ‘4”  )

s-2a.J 1.00

Sl-'206(H) 1 1 1



x = 1 wlw,  FIR@,  8wl

P(@lflR)  = (y. )( yg )( & ) = 2$5

P(Wwl)  = (~o)($J~8)=~5

P(mwl)  = ($ )( $ )(-f*  ) = $

4 16 3 8P(fl’RW)  =  t20  )( Ti  xi-, ) =  2gg

1 2 0
285 = P(x  = I)

P(x=2)=  ;g

112 ST 206 (ES)



P(mw)  = q&  )(,1, ) (  & )  = &= P(X =  3 )

-
0 1 2

140/285 1201285 24/285

X
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(fl) x 6raz Y aih&r33ihi~%i  ?

(u)  o-lm P(x  = I n Y = 2)

(n) owi  P(Y  = 11x) Ah  x = 0, x = I ua::  x = 2

(r,)  41 x LLX  Y dGws~fk4

f(x,  y)  = f(x).f(y) w,n 1 $h5mm  (x. Y)

nomaamnu~  1 $wIJ 60  f(O.0) = P(X = 0, Y = 0) = 0.08

II@~  P(x  = O).P(Y = 0) = (.20)(.20)  = .04 #.08
P

$fJQU x LLX  Y SJlaiaOuki~n”Pa

(71)  P(X = Iny=  2) = f(l, 2) = ~(x  = 1,  Y = 2) = 0.0s

(+I)  nl%Ml  conditional prob %$W-dl

P(X=a/Y = b )  =
P(x = a, Y = b)

P(Y = b)

114 ST206 (H)



If-h P(Y = b/X = a) = P(X = a, Y = b)/P(X = a)

Y

6JQU  P(Y = I/X  = a) = P(X=a,Y=I);a=O  , 2P(X = a) 7 1

t&l a = 0 = P(X=O,Y =  1 ) .1°
P(X=Oq-

= .20  - = .5

110 a = 1 = VX = 1, Y = 1) = J-8 =

P(X  =  1 ) .30
,6

iii0  a = 2 = P(X = 2. y =  1) =  * =  ,24

P(X =  2 ) .50

f(*/y)  = fu LLa: f(y/x) = I_ -Rx, Y) - joint prob
h(y) g(x) rn~~~~~b

&it4 Rx> Y)  = hW.f(x/y) . . . . . . (1)

= tz(X),f(Y/X) ( 2 )

joint prob = (marginal prob)(cond.prob)
s.

i):?41 f(x, Y)  =  j o i n t  p r o b  h%;m! (2)  %&WMI  f(y/x)  h$$

t&l  x  =  0 ,  f(Y/X  =  0 )  =  f(0, y)/g(o)  =  P(X  =  0 ,  Y  =  y)/P(X  = 0 )

f(Y  = O/X  = 0) = .08/.20  = .4

f(y  = I/X  = 0) = .10/.20  = .5

f(y  = 2/x  = 0) = .02/.20  = .I

&I x  =  1, f(Y/X  =  1 )  =  f(l,y)/g(l)  =  P(X =  1 ,  Y  2 y ) / P ( X  = 1 )

f(Y  =  o/x  =  1 )  =  .07/.30  = 7/30

f ( Y  =  l/X =  I )  =  .18/.30  =  IS/30

PfY =  2/x  =  1 )  =  .05/.30  =  5/30

ST 206 (H) 115



& x = 2, f(Y/X = 2) = f(2, y)/g(2) = P(X  = 2,  Y = y)/P(X  = 2)

f(Y = o / x  =  2 )  =  .05/.50  =  .I0

f ( Y  = l / X  =  2 )  =  .12/.50  =  .24

f(Y =  2 / x  =  2 )  =  .33/.50  =  .66

marginal prob = P(X = x)  = g(x) cond.prob. joint prob.

::::::r :z pcx= ,)=  ,3O

f(1,2)  = .os

1.16 ST 206 (H)



x = I &I

x = 2 %.I

A B B  ; P(ABB)  =  (i )(;  ) (  $ )  =  3120

BAB;P(BAH)  =  (;)(;)(;)=3:20  P ( X =  1)=9/20

B B A ;  P(BBA)  =  ($ )(f  )(;  )  =  3120

AAB; P(AAB)  =  (2 )(f  )(;  )  =  3120

A B A  ; P(ABA)  =  (d  )(;  ) (  5 )  =  3/20 P ( X  =  2 )  =  9/20

BAA;P(BAA)  =  (a )(;  )(i )  =  3/20I

x = 3 &I AAA;P(A.W  = (;,(;,(f,=:i,

S+ 206 (H) 117’



Z 1 2 3 4 5 6 I Taad

f(Z) l/12 2/12 2/12 z/12 2/12 2/12 l/12 1 .o

6.32 m&Js.31 o4nln?llldlo~ldui  z oai;riloil4~~u~~n 5

P(Z25)  = l-P(Z64)

=  I - F ( 4 )

=  1  - (f0j+f(2)+f(3)+f(4))

= 1 - (l/12+2/12+2/12+2/12)

=  1  -l/12

= 5/12

118 ST 206 ,(I+)



na1ud1a&4

-

.I I

.I 3

.I 7

.20

.I'

.I3

I 0
-

T -
iluaua~eP,siM~,~ldra~~~~~

27 2x 29 3 0 31 3 2 33

0 220 440 660 880 I 100 I320

I50 0 220 440 660 x x0 I I 00

100 I50 0 720 440 hh0 8 x0

4 5 0 3 00 150 0 2'0 440 hh0

600 450 300 I50 0 220 440

750 600 450 300 I50 0 270

900 750 ho0 450 300 I50 !I
-

444.50 33h.2 27.000 27h.70 351.j 4X7.60 666.6

~-i~?~;le4xrlWwag~~a~~~~~nl~~~~~  27 %¶J  =- tWl.(R~hX 27 "h)

= 0(.11)+150(.1.l)t?00(.17)+450(.'0)1600(.15)

+750(.I4)+9OO(.I0)

= 0+19,5+51~90+9()iI05t')()

~ 445.50.~

EOL(R'%R  28 bJ) = 220(.11)+0(.13)t150(.1')+300(.20)+450(.15)

+600(.14)+751)(.10)

= 24.2+0+ 25.5t6Ot67.5+84-t75

= 336.2
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Prob .5 .5

8SfiU E(W) = 1(.5)+0(.5)  = .5

!3T  206 (H) 121



E ( X )  = O(a  )+I(;  )+2(: )

=  0+1/2+1/2  = I

I 2 3 4 5 6

l/6 l/6 l/6 l/6  l/6  l/6

E(X)  =  1(;)+2(;)+3(;)+4(;)+5(:)+6(;)

1+2+3+4+5+6= -21 = 3,5
6 6

I 2 3 4 5 6

2 3 4 5 6 7

3 4 5 6 I 8

4 5 6 7 8 9

5 6 7 8 9 10

6 7 8 9 IO 11

7 8 9 IO 11 12
~.~ -. -.- -.
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x 2 3 4 5 6 7 8 9 IO 11 12

2 3 4 5 6 5 4 3 2 I
37 37, 3% 36 33 3% 3 6 37h 36 36----I_-~.----_

E(X) =: 2j3$  )+3(3$  )+4(3$  )+...+I?(~+ )

= 2+6+12+20+30+42+40+36+30+22+12
3 6

= 252
36

j”(Y)  = (.9’98001)(-4) +(.00199X)(396) = -3.2 IJlp1 -

P(tp)  = 11100 = ,001

P(b@l)  =  999/1000  =  ,999

P(X = 0)  =  P(isl,  &I) =  P(fiFl). P(kl)  = (.999)(.999)  =  .998001
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p(x = I )  =  P(;n,  i%t)+P(h,  ;n)

= (.001)(.999)+(.999)(.001)

= .000999  + .000999

= .001998

Y

8.40 9x  x lowa”au66nwa,n”lsaJ~udo~~  2,ooo.ooo  ¶Jlol  66nAllr66on6ra~cii

I
__ ___---

x(ihJ1s?) 1 2 3 4 5

f(X) .2 .3 .2 .2 .l
_ _ _ _ -___-------  -

aJnin”ihniGlnUiUoinni%a~?od  2 hm

E ( X )  =  1(.2)+2(.3)+3(.2)+4(.2)+5(.1)

= .2 + .6 + .6 + .8 + .S

=  2 .7  GilMEI1’M

= 2,7000,000  IIIW
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E ( Z )  := O($ )+I(; )+4($ )

==  0+;+1

==  1.5

P(X  = 0 )  = P(m)  =  (S )(T)=  1_6
10 9 90

P(x =  I)  =  P(na)+P(aw)

= ($j ,($ I+(+() I($)

= L_6+L6=g
90 90 90

P(X  = 2) = P(M)

ST 206 (H) 125



E ( X )  =  O($)+l($($)

= 0+3_1+4
90 90

= 36= 0 . 4  Mwila
90

1; x Gbnawa&m

E(X) = 500(.40)+ 1000(.20)+  ._.  + 15000(.06)

= 200+200+300+300+900+900

= 2800 ¶JlM

Y 0 1 2 3 4 3au

P(Y) .20 .15 .25 .05 .35 1.00

E(Y) = 0(.20)+1(.15)+2(.25)+3(.05)+4(.35)

= 0+.15+.50+.15+1.46

= 2 . 2 0
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-;j:,

!-d&de,  = E ( X )  =  -100,000(.0002)+k(.9998)

E(P) = 800,000(.6) + (-400,000)(.4)

= 480,000 - 160,000

= 320,000 u-191
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X 0 I 2 3 rau

f(X) .3 .4 .2 .I 1.0

hdk’~‘mu”~Jba~~  =  E ( X )  = 0(.3)+ 1(.4)+2(.2)+3(.1)

= 0+.4+.4+.3

x 0 1 2 ‘528.J

f(X) 1 ; ; $ / 1.0

Fl-JlW.h.h4 = o*  = E(X - p)’ = E(X’)  - p1

H =  E(X)  =  0(9+1(9+2(;)  =  1 .0

E(X2)  = Z.x*f(X)

= 0(;)+1(;)+4(;)  = 1.5

&JGU 02 = 1 . 5  - (l.oy

= 0.5
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_IX 2 3 4 5 6 7 8 9 10 1112

kid E(X) = p =  7

m’du o2 = E(X - p)’ = Z(X - p)2f(X)

x2 4 9 16 25 36 49 64 81 100 121 1 4 4

2 3 4 5 6 7 8 9 IO 1 1 12

2 5 1 6 9 4 1 0 1 4 9 1 6 25

2 3 4 5 6 5 4 3 2 1
36 36 3636 36 36 5;j 3636% 36

c-J2 = 25(3+)+16(3++25(3+)

= 3+:25+32+27+16+5+0+5+16+27+32+25)

= 210 35
36 =d = 5.83

E(X’)  = 4(:,)+9(3~)+...+144(3+)

= 1974/36 = 54.83

a2 = 54.83 -(7)’

= 5.83
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X
1

0 2 4 6 aau

f(X) $ a a $ 1.0

X2 0 4 16 36

E(X) = p=  0(;)+2(;)+4(;)+6(;)

12= -=3.0
4

E(X*)  = 0($+4(;)+16(;)+36($)

= 56/4  = 14

o2 = E(X*)  - $

= 14 - (3)2

= 5

x 0 1 2 3 4 5 5aa.J

f(X) .I .2 .3 .25 .l .05 1 .0

E(X) = p = 0(.1)+1(.2)+2(.3)+3(.25)+4(.1)+5(.05)

= 0+.2+.6+.75+.4+.25

= 2.2
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E(X’)  = 0(.1)+1(.2)+4(.3)+9(.25)+16(.1)+25(.05)

= 6.5

0' = E(X2)  - /.i2

= 6.5 - (2.2)'

= 6.5 - 4.84

= 1.66

f-a~aul~nu  (hml) 1 2 3 4 5

,FY-m.Jd?ilrtOu .2 .3 .2 .2 .l
_-

X2 1 4 9 16 25

94 x dowameurrnwnl3a4~u  ~~rnci,lcl~ulla~n?,ulul%~~?fd91~9  x

E ( X )  =  1(.2)+2(.3)+3(.2)+4(.2)+5(.1)

= 2.7 i%w1w

E(X’)  = 1(.2)+4(.3)+9(.2)+  16(.2)+25(.1)

= 8.9

o* := &X2) - cc2

:= 8.9 - (2.7)2

== 8.9 - 7.29

r= 1.61 (iilU¶JlVl)
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fildUUoJ  Y = E(Y) = p

= 0(.2)+  1(.15)+2(.25)+3(.05)+4(.35)

= 2.2

E(Y2)  = 0(.2)+  1(.15)+4(.25)+9(.05)+  !6(.35)

= 7.2

a: = E(Y’) - &

= 7.2 - (2.2)’

= 7.2 - 4.84

= 2.36

IQ n71UhPtbflu IQ nmJoi1aa0u

42.5 - 57.5 0.01 102.5 - 117.5 0.30

57.5 - 72.5 0.02 117.5 - 132.5 0.10

72.5 - 87.5 0.05 132.5 - 147.5 0.08

87.5 - 102.5 0.40 147.5 - 162.5 0.04

WMlX%i=iJ  IQ Iat%
.

lfi X = gnffJnalrK~aaadnr4w  X 8zini5um~L9.xQiJb

X 50 65 80 95 110 125 140 155 aau

f(X)  .Ol  .02 .05 .40 .30 .lO  .08 .04 1.00

X2  2500 4225 6400 9025 12100 15625 19600 24025

&i&.4  53h la%l  =I Q 5O(.Oi)+65(.02)+ . . . 155(m)+

E(X) = 106.7
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8.55 tWl& 6.54 OJHl”~l~l~~~~~lUI~a-~?uI~UJl~ln~~lU~~~l~~U  IQ

E(X’) = 2500(.01)  + 4225(.02)  + . . . + 24025(.04)

= 11761
I

AJQU o; = E(X’)  - p;

= 11761 - (106.7)’

= 11761 - 11384.89

= 376.11

o* = !bKii-  = 19.39

P(X = 0) = P(GlR)  = (5 )(; ) = g = g

P(X = 1) = P((;l’tl)+P(IlGl)

= (g,(+)+(g(;)

= 12+1_2=2_4=g
56  56 56  28

X2 0 1 4
-

X 0 1 2 3a.u

f(X) 15/28 12128 l/28 1.0
-

LLW"YCilR7W%U.10llilJ  x aa

E(X)  =  p,r:=  O(;)+1(g)+2(2$)
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= ,+12+‘=1_4=.5
28 28 28

E(X’)  = 0(~)+1(~)+4(&,

= o+$$+2+ = g = ; = 0 . 5 7 1 4

0: = E(X’)  - p;

= .5714  - (.5?

= .S714  - .2500

= .3214

ox = z = .567

X 1 2 3 4 5 6 aau

f(x) l/21 2/21 3/21 4/21 5/21 6/21 1.0

X2 1 4 9 1 6 2 5 3 6

*
&iiw E ( X )  =  /six  =  1($)+2($)+...+6(&)

= 91/21  = 4.333

E(X’) = 441/21  = 21
c

&GA v ( x )  =  o; =  E(X’)  - p;

= 21  - (4.333)2

= 2.22

tl~~d?ur~uJt~uul~~gluuaJ  x = ox = e = m = 1.49
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